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Let X be the set of integers from %tominclusive.

1. How many elements are in X7
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2. How many elements of X are even?

Shovis wivh oo amd onds willo 2oen | so just
Were Hham hatf:
297+ _ 149
2, 1

3. How many elements of X are odd?

2‘!1—4’-} 4 l‘f‘g ) .}001_5 a[“srl- oy,]g
= chotea. 1 ov2
® ]85 c:lhbr\' had qdm"“)
4. How many elements of X are divisible by 57 . ,,S 4 !.6 A+ has ¢ choi %)

5,10015,...,300 5t lat

This is -;-, of |n~LU&M B | 0300
A ,?‘;-Pr-ég

9. How many elements of X are greater than 727
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6. How many elements of X have all distinct digits?
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7. How many elements of X contain the digit 77 '
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8. How many elements of X do not contain the digit 07
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9. How many elements of X are greater than 101 and do not contain the digit 67
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10. How many elements of X have digits in strictly increasing order? (examples: 125, 48, 3)
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11. How many elements of X are of the form abe where a # 0, a < b and ¢ < b?
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